Grade 2
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Packet

Due: Monday, April 13, 2020

This assignment will count at 1 test grade
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Ready® Mathematics

Solve the problems.

&) Clara makes an array with lemons. She puts 3 lemons in each
row. She has 4 rows of lemons.

Which equation can be used to find how many lemons are in
Clara’s array?

Circle all the correct answers.

Ad+4+y=7
B U+U+y+y=7
C 3+3+3=7
D3+3+3+3=2

2 Josh makes this array.

OO0
OO000
O0000O
OO000O
OO0O00OO

He finds the number of dots in all by skip-counting the columns.
What numbers does Josh use to skip-count?

Circle the correct answer.

A 3,6,912,15

B 5,10, 15,20, 25

C 6,12,18,24

D 36,42, 48, 54 \ .

Grade 2 Lesson5 Add Using Arrays



NYS COMMONM CORE MATHEMATICS CURRICULUM

Add and Subtract Ones and Tens

Lesso

n 3 Sprint

Number Correct:

1. 3+1= 23. 50+ 30=
2. 30+10 = 24, 54+30-=
3. 31+10+= 25. 54 +3 =
4. 31+1= 26. 50-30=
5. 3-1= 27. 59 -30=
6. 30-10= 28. 59-3=
7. 35-10= 29. 67 +30=
8. 35-1= 30. 67-30=
9. 47 + 10 = 31 67-3=
10. 10-1= 32. 40-3=
11, 80-1= 33. 42-3=
12. 40+ 20 = 34, 30+40 =
13. 43 +20= 35. 32+40=
14, 43+2= 36. 32+4=
15. 40-20-= 37. 70-40=
16. 45-20= 38. 76 - 40 =
17. 45-2 = 39. 76-4=
18. 7 +2 = 40. B3 +40°=
19, 57-20= 41, 53+4=
20. 10-2= 42. 53-40=
21, 50-2= 43. 90-4-=
22. 51-2= 44, 92 -4=
%M?ABTEHK A Lesson 3: Add and subtract muiltiples of 10 and sorme ones within 100, engage ny

© 2015 GreatMinds, aurek
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Ready® Mathematics

Solve the problems.

lil] George has 64 baseball cards. He gives 28 of them to his
brother. Which method shows a way to find 64 — 28?

Circle all the correct answers.

A 28+2 =30
30 4 30 = 60
B 64—4 =60
60 —4 =56
56 — 20 = 36
C 64— 40 =24
24+ 8 =32
D 64—4 =60
60 —8 =52
52 — 20 = 32

E 5 tens 14 ones
— 2tens 8 ones

7] Jessica made this model to subtract two numbers.
What problem is she solving?

59 60 20 95

Fill in the blanks to complete the subtraction problem.

Grade 2 Lesson 8 Subtract Two-Digit Numbers




NYS COMMON CORE MATHEMATICS CURRICULUM

Sums to the Teens

Lesson § Sprint

Number Correct:

1 9+1= 23. 7+3:=
2. 9+2= 24, 7+4:=
3. 9+3= 25, 7+5=
4 9+9= 26. 7+9=
5. 8+2= 27. 6+4-=
6. 8+3= 28. 6+5=
7. 8+4= 29. 6+6=
8. 8+9-= 30. 6+9=
9. 9+1= 31. 5+5=
10. 9+4:= 32. 5+6¢=
11, 9+5= 33. 5+7=
12. 9+8= 34. 5+9=
13. 8+2= 35. 4+6=
14, 8+5b= 36. 4+7=
15. 8+6= 37. 4+9=
16. 8+8= 38. 3+7=
17. 9+1= 39. 3+9=
18. 9+7= 40. 5+8=
19, 8+2= 41. 2+8=
20. 8+7= 42, 4+8=
21. 9+1= 43. 1+9=
22. 9+6¢= 44, 2+9=
EUREKA Lesson 9: Use math drawings to represent the composition when adding a eng a g_ eny

MATH"

9 2015 Great Minds. euraka-math.arg
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two-digit to a three-digit addend.
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1) Vivian says that the difference of 63 and 27 is 37. Her work is
shown below.

63 —3 =60
60 — 20 =40
40 -3 =37

Her teacher says her answer is not right. What should Vivian
do to fix her work?

78 Alex adds to find 45 — 17.
Finish Alex’s work. Use numbers from the box to fill in the blanks.

2 3 4 5 10 20 22 28 30

7+_ =37
37+ _ =40
o+ ____ =45
45 —-17 =

Grade 2 Lesson 8 Subtract Two-Digit Numbers



MYS COMMON CORE MATHEMATICS CURRICULUM

Subtraction from Teens

Lesson 10 Sprint

Number Correct:

1, 11-10= 23. 19-9=
2. 12-10= 24, 15-6:=
3 13-10= 25. 15-7=
4, 19-10= 26. 15-9 =
5. 11-1= 27. 20-10 =
6. 12-2= 28. 14-5=
7. 13-3= 29. 14-6-=
8. 17-7= 30. 14-7=
9. 1-2-= 31. 14-9=
10. 11-3= 32. 15-5=
11, 11-4-= 33. 17-8=
12. 11-8-= 34, 17-9=
13. 18-8+= 35. 18-8=
14, 13-4+ 36. 16-7=
15. 13-5= 37. 16 -8=
16. 13-6= 38. 16-9=
17. 13-8= 39. 17-10 =
18. 16-6= 4Q. 12-8=
19. 12-3= 41, 18-9=
20. 12-4= 42. 11-9=
21, 12-5= 43. 15-8=
22. 12-9-= 44, 13-7=
%&Eﬁ% I it s e addond, e e engageny
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Readv® Mathematics

Solve the problems.

I} Write an equation for each step to solve the problem.
Then answer the question.

Tina picks 18 flowers.

She throws away 3 flowers.

She gives 8 flowers to her mother.

How many flowers does Tina have now? flowers

Oscar gets 9 books from school. Then he takes 5 books back and
gets 2 more books. How many books does Oscar have now?

Fill in the boxes to complete the open number lines.
Then solve the problem.

5

/—\

< >
9

/’/’N

>

<

|
!
T

Answer: Oscar has books now.

Grade 2 Lesson 6 Solve Two-Step Word Problems



NYS CONMIMON CORE MATHEMATICS CURRICULUM

Subtraction Patterns

Lesson 13 Sprint

Number Correct:

1. 10-5= 23, 14-6 -
2 20-5= 24, 24-6 =
3 30-5= 25. 34-6=
4. 10-2 = 26. 15-7=
5 20-2= 27. 25-7=
6 30-2= 28. 35-7=
7 11-2:= 29. 11-4=
8 21-2 = 30. 21-4=
9. 31-2= 31. 31-4=
10, 10-8= 32. 12-6=
11, 11-8= 33, 22-6=
12. 21-8= 34, 32-6=
13, 31-8= 35. 21-6=
14, 14-5= 36, 31-6+
15. 24-5= 37. 12-8=
16. 34-5= 38. 32-8=
17. 15-6= 39. 21-8=
18. 25 -6 = 40, 31-8=
19. 35-6= 41, 28-9=
20. 10-7= 42, 27-8=
21, 20-8= 43, 38-9:=
22. 30-9= 44, 37-8=
EUREIA R composiion s faate it 1o wettonmatnod " engage"y

MATH"
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Ready® Mathematics

Solve the problems.

il Mrs. Jackson asks her students to compare the numbers in the
box to 650. Is the number greater than 650 or less than 6507?

660 640 506 604 565 656

Write each number in the correct column.

Less than 650 Greater than 650

2] Charlie makes this model to show the number of cars in a
parking lot on Saturday.

rd P4

Y

L1

LT
D N M

QAQQ

LTI

DD

There are more cars in the parking lot on Sunday than
on Saturday. How many cars could be in the parking lot

on Sunday?
Circle all the correct answers.

A 233 D 246
B 137 E 263
C 300 F 204 g.

Grade 2 Lesson 12 Compare Three-Digit Numbers



MYS COMMON CORE MATHEMATICS CURRICULUM

Two-Digit Subtraction

Number Correct:

there is a three-digit minuend.

1. h3-2= 23. 84 - 40 =
2. 65-3= 24, 80-50=
3. 77 -4 = 25. 86 - 50 =
4. 89-5= 26. 70-60+=
5. 99-6= 27. 77 - 60 =
6. 28-7+= 28. 80-70=
7. 39-8= 29. 88-70=
8. 31-2= 30. 48 - 4 =
9. 41-3 = 31 80 -40 =
10. 51-4= 32. 81-40=
11, 61-5= 33. 46 - 3 =
12. 30-9-= 34. 60-30=
13, 40 -8 = 35. 68 -30=
14, 50-7= 36. 67-4=
15, 60-6= 37. 67 -40 =
16. 40-30+= 38. 89-6=
17. 41-30= 39. 89-60=
18. 40-20= 40. 76-2=
19. 42-20= 41, 76 - 20 =
20. 80 -50 = 42. 54 -6 =
21. 85-50= 43, 65-8=
22. 80 -40= 44, 87 -9 =
EUREKA lesson15:  Represent subtraction with and without the decompaosition when engage ny

MATH
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